N = 0o & AF S & Al A
20218 &= 20l & L BHS A
ARE: HAARIPIHS
2 A XA
& Ao EEes =2 (e &
SRS - 2A - BB (3H) - MBAY - B Ol &t 08 o HDS 2
Ol LI X & = 3 121,349,300 50,065,831 71,283,469
= 83,851,242
Al 37,498,058
adxiol2gels &2 4,352,488 9,123,281 N4,770,793
= 1,916,492
Al 2,435,996
HUX MAHE AFSI 2= 22| 75,238 85,000 N9,762
= 1,000
Al 74,238
X 2 g - 28 73,238 83,000 N9,762
201 dBt249| 57,238 65,400 N8, 162
01 At 22| 8l 28,338 29,500 AN 1,162
OUXIZS E22 S(EAU A, '218HAl)
10,000,000& 10,000
OSFAHEAN &2t 2,337,500& 2,338
o294 (HUXNESI A2 £=Y) 5,000,000& 5,000
ORI & ¢ 6,000,000& 6,000
OHUHXNEY X 22 A NS 5,000,000& 5,000
02 33234l 900 900 0
OZ2EXNS(MIXNSA) SXeldl 500,000& 500
O3322(SA]) g8 400,000 400
03 #HAI2FH| 28,000 35,000 A7,000
OWUHRX S22 MHOILL HE S 5,000,000& 5,000
02021 IHXICHE &t 23,000,000& 23,000
202 01 1l 12,400 14,000 A 1,600
01 2ol 12,400 14,000 A 1,600
ORI Zed AMF=E L HUHKANE ANHEH S
12,400,000& 12,400
203 & R F X d| 3,600 3,600 0]
03 Al F=XH 2= 3,600 3,600 0
OO0l XIAI ALY =& 3,600,000& 3,600
XNEHUHX HE =8 XA 2,000 2,000 0
= 1,000
Al 1,000
201 B2 A Y| 2,000 2,000 0
= 1,000
Al 1,000




ol : MABMAS
B NEPARSE< )}
BooudxolEgels &2

ARG - 2A - B - BA(AA) - HRMY - BES Ol &k o e HRE2
01 AtR2teldl 2,000 2,000 0
OXguuUXI A =8 nsH 2,000,000& 2,000
= 1,000
Al 1,000
NENHX 25 2,607,300 2,577,450 29,850
= 1,543,420
Al 1,063,880
ANEEZAML(ANGHEUTES)(HE) 1,440,800 1,424,000 16,800
= 705,920
Al 734,880
403 X HHMSHE01H 756,000 0 756,000
= 432,000
Al 324,000
01 AXIESHA=Z2E X 756,000 0 756,000
Oet==2stat dHE ZH HH ALY 161,000,000 161,000
= 92,000
Al 69,000
OE2XH 2MALAH SE=F 280,000, 000& 280,000
= 160,000
Al 120,000
OHL=3ts 2t HLE Y WA 315,000,000 315,000
= 180,000
Al 135,000
04 SMNBSHTAEEES 684,800 1,424,000 A739,200
= 273,920
Al 410,880
01 SA- BEHNHE2HES 684,800 1,424,000 A739,200
OJt&toteHMeld Fs=I] UMM
600,000,000& 600,000
= 240,000
Al 360,000
OgeAgA AREHSHI QIHEH XA
84,800,000& 84,800
= 33,920
Al 50,880
FHAHNES AKX =S (X&) 1,166,500 1,153,450 13,050
= 837,500




B g PN S Kol
B NEPARSE< )}

Mo U XOISE2S &2

ARG - 2A - B - BA(AA) - HRMY - BES Ol &k o e HRE2
FHAANE AUX=SX(XE) Al 329,000
403 RIS M E X201 E 1,166,500 1,153,450 13,050
= 837,500
Al 329,000
01 AHXESHHAZ2ER 1,166,500 1,153,450 13,050
OHAANE HWHUXNSEXNMB(HASE S LED AH)
1,166,500, 000& 1,166,500
= 837,500
Al 329,000
ITHEOM U X 22 697,210 1,613,991 A 916,781
= 372,072
Al 325,138
NAT AL (HE) 169,527 907,509 AT37,982
= 76,286
Al 93,241
401 Al E I & 2 Y| 169,527 544,709 N 375,182
= 76,286
Al 93,241
01 A& Hl 169,527 544,709 A 375,182
O&r2 119t AIH S 4L B2 SEAH £X
68,435,000& 68,435
= 30,795
Al 37,640
O A9t W BHEEESE 4 &
25,798,000& 25,798
= 11,609
Al 14,189
OZ22YAN HAYZISEEH &X 75,294,000 75,294
= 33,882
Al 41,412
KNAX AL (KE) 527,683 706,482 A 178,799
= 295,786
Al 231,897
403 AXISHH S X=201& 527,683 706,482 A 178,799
= 295,786
Al 231,897
01 AHXESHA2E = 527,683 706,482 A178,799




s MHHIHAZZ

A Ol XIS 2
oo HRoIESEels &2

ARG - 2A - B - BA(AA) - HRMY - BES Ol &k o e HRE2
OJTHA AKX KSR HAS (2,7) 527,683,000 527,683
= 295,786
Al 231,897
HuUXI=ss ¢2EsE =8 972,740 4,846,840 3,874,100
SNMXISE 0l XAt St 2,000 2,000 0
202 (4 8l 2,000 2,000 0
01 2 LHOA HI 2,000 2,000 0
OEMXSE HUXAIE =& S A8 04H] 2,000,000 2,000
AL 2S=HE HEES 18,000 18,000 0
207 & 1O 2 H| 18,000 18,000 0
01 &4l 18,000 18,000 0
OZ AL AHSSHIE B EA 18,000,000& 18,000
JPAOHE FHAANE AMEIHE ALY 99,540 99,540 0
308 At XIHHMS0IH 99,540 99,540 0
3 2SoHUSZAHAE AL HI 99,540 99,540 0
OJAetd HANS AMENL ALY 99,540,000& 99,540
LPG EHSS AL 814,500 918,000 A 103,500
403 RIS M EX201E 814,500 918,000 A 103,500
01 AtXIE M A= 8 X 814,500 918,000 A 103,500
OLPG I35 A 814,500,000& 814,500
MBIE LPItA AMEIHS A 38,700 38,700 0
308 MK EHHM SO0l & 38,700 38,700 0
SIS0t B & E 2 E A 38,700 38,700 0
OMBIE LPItA A ALS 38,700,000& 38,700
S 28 Az Ch2s 116,346,300 39,408, 100 76,938,200
= 81,934,750
Al 34,411,550
g#ZrEE Sk B2 116,346,300 39,408, 100 76,938,200
= 81,934,750
Al 34,411,550
HIsSH 28 ¥ sAZe 2H(AE 82,718,800 36,634,600 46,084,200
= 55,947,000
Al 26,771,800
402 812t =01 & 82,672,800 36,626,600 46,046,200
= 55,901,000




ol : MABMAS

2 M WX E D
g M UsSk 2d Az Chest (=&
ARG - 2A - B - BA(AA) - HRMY - BES Ol &k o e HRE2
402 QI2t =01 & Al 26,771,800
02 IR EASEE(0IETHE) 82,672,800 36,626,600 46,046,200
OHIISEX UHEZ AL (4,9390H)
55,416,800,000& 55,416,800
= 34,573,000
Al 20,843,800
OFIIHA QI2AEBZAS (690H) 5,520,000,000& 5,520,000
= 5,520,000
OHIlst2 X 222 S AL (988LH) 21,736,000,000& 21,736,000
= 15,808,000
Al 5,928,000
DA SMNSHTAEEES 46,000 8,000 38,000
= 46,000
01 SA- BEHUESHEES 46,000 8,000 38,000
O33J& MIKNSK Ex= (23 A 10, 2
HSFI3H 1) 14,000, 000& 14,000
= 14,000
O33J1& MIIsEx ES(USII3C JHEAS
2 10, JEEAIE HetAg A 10132,000,000 32,000
= 32,000
IS 22 2 sHZe RE(XY) 273,000 280,000 A7,000
= 273,000
403 X SHHMSHE01H 273,000 280,000 A7,000
= 273,000
01 AHXESHHA2ER 273,000 280,000 AT,000
O23J1& MIXNsSXH E=(=2+ 39U)
273,000,000& 273,000
= 273,000
SISt HiEel al=2e| 19,500 19,500 0
= 9,750
Al 9,750
402 812t =01 & 19,500 19,500 0
= 9,750
Al 9,750
02 QIR EAIE X (01 &) 19,500 19,500 0
OHIIXSX HHEH2l 322l AH(300H)
19,500,000& 19,500
= 9,750




2ol MEIH A2
A Ol XIS 2

o NSA 2 A2 Ot (=&
ARG - 2A - B - BA(AA) - HRMY - BES Ol &k o e HRE2

Al 9,750

HII0IEX BESAHY 1,800,000 1,610,000 190,000
= 900,000
Al 900,000

402 212t 201 ™ 1,800,000 1,610,000 190,000
= 900,000
Al 900,000

02 QIR E2ASEE(0IETHE) 1,800,000 1,610,000 190,000

OHII0IEX 212 E= AL (1,000CH)

1,800,000,000& 1,800,000
= 900,000
Al 900,000

SAAS IR ESAY(HE) 30,735,000 0 30,735,000
= 24,405,000
Al 6,330,000

402 QI2t 201N 30,735,000 0 30,735,000
= 24,405,000
Al 6,330,000

02 QIZIRHEAEEEX(01ETHE) 30,735,000 0 30,735,000

O=A2HS XX PHIE X (4980)

27,435,000,000& 27,435,000
= 22,455,000
Al 4,980,000
Ox2HA FUHIEX(90) 2,100,000, 000& 2,100,000
= 1,350,000
Al 750,000
O=2EZ FAHIEE(3U) 1,200,000, 000& 1,200,000
= 600,000
Al 600,000

HHIIA 232E YNEH FQH EX 800,000 0 800,000
= 400,000
Al 400,000

402 QI2t Rt =01 & 800,000 0 800,000
= 400,000
Al 400,000

02 QI 2MAE X (0T ) 800,000 0 800,000




(33 M4HBM2S

A Ol XIS 2

. NESX 28 o2 01 (o9& e
SRS - 2A - BB (3H) - MBAY - B Ol &t 08 o HDS 2
OFAIA 2I2E YNHNEH 2UH E=x
800,000,000& 800,000
= 400,000
Al 400,000
HESH AL 39,227 34,450 4,777
Jl2dul(dlH X &2 0t) 39,227 34,450 4,777
fMS9I 39,227 34,450 4,777
201 B2 A Y| 21,595 18,650 2,945
01 At 22| 8l 21,595 18,650 2,945
OFA2E | 9,595,000& 9,595
[Or=2=1:l 12,000,000& 12,000
202 0 4| 13,432 11,600 1,832
01 2ol 13,432 11,600 1,832
OJl2gR+3 oyl 13,432,000& 13,432
203 2 R F A d| 4,200 4,200 0
04 2EA2ILRFEY| 4,200 4,200 0
OFRANSIELERF=ZAH| 350,000& *12& 4,200
HEE=(0lHXIE =) 611,285 1,500,000 N 888,715
SRS PNES 26,285 0 26,285
BtEt 2 J|EH 26,285 0 26,285
802 Bt&t 2 DI El 26,285 0 26,285
01 =2nEx3esE=z 26,285 0 26,285
020198 &= £=AHS AKX BEsSAYE 20EX2 &
A0l X 26,285,000& 26,285
WEAHHX = 585,000 1,500,000 A 915,000
JEISIHNMES 585,000 1,500,000 A 915,000
701 JIEtSI HENEZ 585,000 1,500,000 A 915,000
01 JIEtSI HEEZ 585,000 1,500,000 A 915,000
O ML ELESH &2 585,000, 000& 585,000






